
qm= ;+= of]hgfsf] gfd :yfg÷&]ufgf ljlgof]hg /sd ?=

s
1 j*f:tl/o s[lif tyf kz' sfo{qmd -kz' jLdf, jLpm ljt/)f,  

s[lif tflnd tyf rfkfsn lgdf{)f sfo{qmd . j*f g+= 2 kf]v/fyf]s 300000.00

hDdf M 300000.00

v

1 k|;'lt tyf ;ef xn lgdf{)f kf]v/fyf]s :jf= rf}ls 500000.00

2 kf]v/fyf]s vf=kf= OG^]s lgdf{)f, d"n ;+/If)f j*f g+= 2 kf]v/fyf]s 500000.00

3 lai)f' df=lj= em\ofn(f]sf tyf /+u /f]ug j*f g+= 2 kf]v/fyf]s 100000.00

4 dx]Gb|wf/f tyf kgf{vf]s +̂ls lgdf{)f j*f g+= 2 kf]v/fyf]s 100000.00

5 !fg Hof]lt ljBfno / hgtf k|f=lj= kmlg{r/ vl/b j*f g+= 2 kf]v/fyf]s 100000.00

hDdf M” 1300000.00

u

1 &'nfrf}kf/L gf}lj;] &'nf] rf}kf/L b]p/fnL nfnkf^L rqmky j*f g+= 2 kf]v/fyf]s 1000000.00

2 j*f sfof{no”&"nf] rf}kf/L df]=af= kvf{n lgdf{)f, u|fe]n j*f g+= 2 kf]v/fyf]s 500000.00

3 (l*ofg %ltjg lga'jfvs{ a;'g*f+*f s[lif;*s :Q/f]GgtL j*f g+= 2 kf]v/fyf]s 500000.00

4 ;r]tgf s]Gb| tyf t/sf/L ;+sng s]Gb| ejg lgdf{)f j*f g+= 2 kf]v/fyf]s 500000.00

5 b]lj:yfg kl/;/ lgdf{)f j*f g+= 2 kf]v/fyf]s 100000.00

6 j*f sfof{no /+u/f]ug tyf kmlg{r/ vl/b j*f g+= 2 kf]v/fyf]s 100000.00

hDdf M” 2700000.00

#

1 uf]km]s e';+/If)f tyf en lgoGq)f j*f g+= 2 kf]v/fyf]s 100000.00

hDdf M 100000.00

ª

1 j*f :tl/o tYof+s ;+sng tyf clen]lvs/)f j*f g+= 2 kf]v/fyf]s 100000.00

hDdf M 100000.00

r
1 dlxnf ” ;r]tgfd"ns / pb\#f]if)f tflnd, Ifdtf ljsf; / 

s[lif tflnd j*f g+= 2 kf]v/fyf]s 75000.00
2 afnjflnsf jfnljjfx Go'lgs/)f tflnd ?–=25000.00            

jfn Snjx?df v]ns'b ;fdfu|L ljt/)f    ?=25000.00  
cltl/Qm lqmofsnfk xflhl/ hjfkm,lgaGw,cflb sfo{qmd 
;+rfng                                 ?25000.00 j*f g+= 2 kf]v/fyf]s 75000.00

augf;sfnL ufp“kflnsf

2 g+= j*f sfof{no kf]v/fyf]s, kfNkf

cf= j= 074÷75 sf nflu j*f e]nfaf^ kfl/t eO{ ufp“ sfo{kflnsfdf k]z ePsf of]hgf÷sfo{qmdx?

cfly{s ljsf; If]q tk{m M

;fdflhs ljsf; If]q tk{m M

k"jf{wf/ ljsf; If]q tk{m M

jftfj/)f tyf ljkb\ Aoj:yfkg If]q tk{m M

;+:yfut ljsf; tyf ;]jf k|jfx / ;'”zf;g If]q tk{m M

cGo -nlIft ju{_ M” 



3 cfbLjf;L÷hghftL”Ifdtf ljsf; tflnd ? 25000.00 du/L 
e]if e'iff vl/b                      ? 22500.00 j*f g+= 2 kf]v/fyf]s 37500.00

4 ckf· ”ckf+u lbj; j*f g+= 2 kf]v/fyf]s 37500.00

5 blnt ”afv|f k}+rf] sfo{qmd j*f g+= 2 kf]v/fyf]s 37500.00

6 h]i&gful/s ”  h]i&gful/s ;Ddfg tyf pkrf/ j*f g+= 2 kf]v/fyf]s 37500.00

hDdf M” 300000.00

1 s/·f”a;'g*f+*f”%ltjg”(l*ofg”cfo{eGHof·”cf+krf}/”&l^of”bds*f df]]^/ af^f] .

2 gf}lj;] dlGb/ tyf ko{^sLo k"jf{wf/ lgdf{)f

3 lkKn]”&"nf] :jfdL”rf“bLvf]s”wf}n] l;+rfO{ s'nf] lgdf{)f 

4 cd/fO{ lzj kfj{tL dlGb/ lgdf{)f

5 wjfbL !fgHof]tL ljBfno”lji)f' df=lj=”ck|]mbL efns'g”en'jfrf}/ x'b} df*L rqmky hf]*\g] df]= af= .

6 nlIftju{ M” Aoj;flos afv|fkfng, 1 kl/jf/df sDtLdf 2 dfp / vf]/ lgdf{)f cg'bfg 110 #=k=.

7 j*f:t/Lo j'l^s l;nfO{ s^fO{, a'gfO{ tflnd 100 hgf dlxnfsf] nflu .

8 du/L, g]jf/L, s'dfn e]ife'iff vl/b, ;+u|fxno lgdf{)f / efiff :s"nsf] lgdf{)f .

1 gfo/”%ltjg”w/dkfgL j*f sfof{no”b]p/fnL”cf“krf}/”nfnkf^L”;/fO{ df]̂ / af^f] .

2 dGqLkl/ifb\af^ lg)f{o ePsf] 15 z}ofsf] c:ktfn lgdf{)f tyf kf]v/fyf]s :jf:Yo rf}sL :t/j[l$ .

3 lszf]/ k|;fb g]kfn ;fd'bflos :jf:Yo s]Gb|sf] nflu cfjZos oGq pks/)f vl/b tyf ejg lgdf{)f .

4 kf]v/fyf]s lnk\m^ vf= kf= -jlt;]] tyf #/fxf kgf{vf]s_ b]lv ;Dk")f{ j*fjf;Lsf] nflu .

5 ltgfp t^jGw lgdf{)f / k'/L(fj tyf ltgfpvf]nf nfnkf^Ldf kSsL k'n lgdf{)f .

6 lj$fcf>d lgdf{)f tyf xl/snf dlGb/ b]jL:yfg %ltjgdf j[$f>d :yn lgdf{)f .

7 o'jf ;"rgf s]Gb| lgdf{)f, j*f:t/Lo v]n d}bfg lgdf{)f / df]jfOn dd{t, ;'/lIft j}b]lzs /f]huf/L ;DjGwL tflnd

8 ckf· kl/jf/sf] nflu Aoj;flos s'v'/f kfng sfo{qmd, ckf· ;xof]u ;fdfu|L ljt/)f .

1 w/dkfgL %ltjg jLp ljhg s]Gb| ;*s

2 au}rf lnk\\m^ vf= kf=

3 lht]u}+/f vf= kf=

4 cfo{eGHof· b]p/fnL &l^of bds*f df]̂ / af^f]

5 l;$fy{/fhdfu{ w/dkfgL lji)f' df=lj= df*Lkmf+^ nfnkf^L s;]gL ;*s .

6 w/dkfgL cd/fO{ j'(Ld/] df]̂ / af^f] .

7 b]jL:yfg kl/;/ lgdf{)f .

8 ;*s ;f]nf/ jlQ h*fg 150 j^f .

;fljs lh=lj=;= tyf s]Gb|af6 ;+rflnt of]hgf

ufp“kflnsf|df dfu ug]{ of]hgfx?

s]Gb|df dfu ug]{ of]hgfx?



s}lkmot



o'jf ;"rgf s]Gb| lgdf{)f, j*f:t/Lo v]n d}bfg lgdf{)f / df]jfOn dd{t, ;'/lIft j}b]lzs /f]huf/L ;DjGwL tflnd


